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QUIZ 3

A 415 V series dc motor has nominal armature current of 15 A. The armature and field

resistances are 0.9 Q and 1.5 Q respectively. Stray losses are assumed constant at 250 W
throughout the operation of the motor. Determine:

1. The back-emf/counter-emf, E,
ii.  The mechanical power developed by the motor, Py,
iii.  The output power, P,

iv.  Percentage of efficiency of the machine

[LOMARKS]
Equations :

V; =E, +1,(R, +R;)

Pm = Ea I a

P,=P,-P,

P
Yty = 100%

I:)in =Vin x Ia

Answer :



